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1&3&5
Tbprosey
Ha AOOUTBK,

NMouncrBaHe n
Ae3nHdeKkuusa

MecapHuua v
OVPEeKTHa npogaxoa
OT CTOMAHCKUS OBOP

3kynBaTeneH kanayuTer:
20 npaceTta 3a BCEKN 5 MUHYTH

[Mokynka (3akynyBaHe):

10 lNpaceTta KOHBEHLMOHANHO
=100 Tanep
10 NpaceTa ekonornyHo
= 150 Tanep

-

o

10 KoHBEHUMOHaNHM npaceHua =
10 Tanep

10 ExonornyHu npaceHua =
20 Tanep

10 dypax = 20 Tanep
= 30 Tanep
10 Tanep

3KkynBarteneH kanayuTer:
20 npaceta

Nokynka (3akynyBaHe):

10 lNpaceTa KOHBEHLUMOHAITHO
= 60 Tanep

10 lNpaceTa ekonorn4yHo
=90 Tanep




